

ARIZONA DEPARTMENT OF TRANSPORTATION
INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024060

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
077 NA 388 F069701C	077-B-(215)T	100205	NAVAJO	NORTHEAST	1		Farhana Jesmin

Highway Termini	Location	Work Description
-----------------	----------	------------------

• SHOW LOW – HOLBROOK HIGHWAY (SR 77) • LITTLE COLORADO RIVER BRIDGE • BRIDGE DECK REHABILITATION

BID RESULTS FOR 2024060

Bid Opening Date : 9/19/2025, Prequalification Required, Engineer Specialist : Farhana Jesmin

Completion Date:

65 Working Days

The proposed project is located in Navajo County on SR 77, from Milepost (MP) 388.0 and MP 389.0., south of the City of Holbrook. The work consists of rehabilitation of bridge and roadway pavement. The work includes mechanical milling of deck surface and overlaying with epoxy, applying penetrating concrete sealer to bridge barriers and sidewalk, replacing deck joint assemblies at expansion piers, milling, grading & repaving roadway, repairing the existing concrete barrier and side walk, sidewalk ramp, replacing guard rail transition, pavement marking, and other related work.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$3,411,987.90	DEPARTMENT ESTIMATE	\$3,411,987.90
1	-30.5%		\$2,371,880.90	FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504	\$2,371,880.90
2	-30.0%		\$2,388,247.90	D B A CONSTRUCTION INC. 1833 SOUTH 59TH AVENUE PHOENIX, AZ 85043-	\$2,388,247.90

Winning Bidder is 30.5% Under Department Estimate (Difference = (\$1,040,107.00))

*** Bid Tabs for Proposal Pamphlet 2024060 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND GUTTER				
Bid Rank	Department Estimate		247.000	\$20.000	\$4,940.00	
1	FNF CONSTRUCTION, INC.			\$50.000	\$12,350.00	+150.0%
2	D B A CONSTRUCTION INC.			\$14.000	\$3,458.00	-30.0%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		758.000	\$12.000	\$9,096.00	
1	FNF CONSTRUCTION, INC.			\$25.000	\$18,950.00	+108.3%
2	D B A CONSTRUCTION INC.			\$7.000	\$5,306.00	-41.7%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		88.000	\$350.000	\$30,800.00	
1	FNF CONSTRUCTION, INC.			\$160.000	\$14,080.00	-54.3%
2	D B A CONSTRUCTION INC.			\$56.000	\$4,928.00	-84.0%
2020054	EACH	REMOVE (GUARDRAIL END TERMINAL)				
Bid Rank	Department Estimate		1.000	\$1,000.000	\$1,000.00	
1	FNF CONSTRUCTION, INC.			\$1,000.000	\$1,000.00	+0.0%
2	D B A CONSTRUCTION INC.			\$630.000	\$630.00	-37.0%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department Estimate		217.000	\$20.000	\$4,340.00	
1	FNF CONSTRUCTION, INC.			\$15.000	\$3,255.00	-25.0%
2	D B A CONSTRUCTION INC.			\$8.000	\$1,736.00	-60.0%
2020086	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (3 1/2 ")				
Bid Rank	Department Estimate		4,560.000	\$4.500	\$20,520.00	
1	FNF CONSTRUCTION, INC.			\$10.000	\$45,600.00	+122.2%
2	D B A CONSTRUCTION INC.			\$10.000	\$45,600.00	+122.2%
2020117	EACH	REMOVE (GUADRAIL TRANSITION)				
Bid Rank	Department Estimate		1.000	\$650.000	\$650.00	
1	FNF CONSTRUCTION, INC.			\$1,000.000	\$1,000.00	+53.8%
2	D B A CONSTRUCTION INC.			\$950.000	\$950.00	+46.2%
2020157	EACH	REMOVE (RUB RAIL)				
Bid Rank	Department Estimate		1.000	\$600.000	\$600.00	
1	FNF CONSTRUCTION, INC.			\$400.000	\$400.00	-33.3%
2	D B A CONSTRUCTION INC.			\$380.000	\$380.00	-36.7%
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEMENT				
Bid Rank	Department Estimate		88.000	\$50.000	\$4,400.00	
1	FNF CONSTRUCTION, INC.			\$80.000	\$7,040.00	+60.0%
2	D B A CONSTRUCTION INC.			\$44.000	\$3,872.00	-12.0%

*** Bid Tabs for Proposal Pamphlet 2024060 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		3.000	\$2,500.000	\$7,500.00	
1	FNF CONSTRUCTION, INC.			\$1,740.000	\$5,220.00	-30.4%
2	D B A CONSTRUCTION INC.			\$6,500.000	\$19,500.00	+160.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department Estimate		4,648.000	\$0.200	\$929.60	
1	FNF CONSTRUCTION, INC.			\$0.050	\$232.40	-75.0%
2	D B A CONSTRUCTION INC.			\$0.500	\$2,324.00	+150.0%
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		907.000	\$375.000	\$340,125.00	
1	FNF CONSTRUCTION, INC.			\$270.000	\$244,890.00	-28.0%
2	D B A CONSTRUCTION INC.			\$280.000	\$253,960.00	-25.3%
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank	Department Estimate		5,027.000	\$1.500	\$7,540.50	
1	FNF CONSTRUCTION, INC.			\$1.750	\$8,797.25	+16.7%
2	D B A CONSTRUCTION INC.			\$1.500	\$7,540.50	+0.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		150,681.000	\$0.300	\$45,204.30	
1	FNF CONSTRUCTION, INC.			\$0.100	\$15,068.10	-66.7%
2	D B A CONSTRUCTION INC.			\$0.400	\$60,272.40	+33.3%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department Estimate		549.000	\$1.000	\$549.00	
1	FNF CONSTRUCTION, INC.			\$0.750	\$411.75	-25.0%
2	D B A CONSTRUCTION INC.			\$1.200	\$658.80	+20.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		66.000	\$3.000	\$198.00	
1	FNF CONSTRUCTION, INC.			\$1.250	\$82.50	-58.3%
2	D B A CONSTRUCTION INC.			\$1.800	\$118.80	-40.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		962.000	\$0.600	\$577.20	
1	FNF CONSTRUCTION, INC.			\$0.100	\$96.20	-83.3%
2	D B A CONSTRUCTION INC.			\$0.200	\$192.40	-66.7%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		151,761.000	\$0.500	\$75,880.50	
1	FNF CONSTRUCTION, INC.			\$0.100	\$15,176.10	-80.0%
2	D B A CONSTRUCTION INC.			\$0.200	\$30,352.20	-60.0%

*** Bid Tabs for Proposal Pamphlet 2024060 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank	Department Estimate		691.000	\$0.500	\$345.50	
1	FNF CONSTRUCTION, INC.			\$0.500	\$345.50	+0.0%
2	D B A CONSTRUCTION INC.			\$0.700	\$483.70	+40.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		58.000	\$800.000	\$46,400.00	
1	FNF CONSTRUCTION, INC.			\$490.000	\$28,420.00	-38.8%
2	D B A CONSTRUCTION INC.			\$1,030.000	\$59,740.00	+28.8%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		54.000	\$1.500	\$81.00	
1	FNF CONSTRUCTION, INC.			\$0.750	\$40.50	-50.0%
2	D B A CONSTRUCTION INC.			\$1.300	\$70.20	-13.3%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		1,118.000	\$1.500	\$1,677.00	
1	FNF CONSTRUCTION, INC.			\$1.000	\$1,118.00	-33.3%
2	D B A CONSTRUCTION INC.			\$1.800	\$2,012.40	+20.0%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		6.000	\$45.000	\$270.00	
1	FNF CONSTRUCTION, INC.			\$30.000	\$180.00	-33.3%
2	D B A CONSTRUCTION INC.			\$48.000	\$288.00	+6.7%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		202.000	\$60.000	\$12,120.00	
1	FNF CONSTRUCTION, INC.			\$55.000	\$11,110.00	-8.3%
2	D B A CONSTRUCTION INC.			\$84.000	\$16,968.00	+40.0%
7016071	HOUR	PILOT VEHICLE WITH DRIVER				
Bid Rank	Department Estimate		24.000	\$90.000	\$2,160.00	
1	FNF CONSTRUCTION, INC.			\$110.000	\$2,640.00	+22.2%
2	D B A CONSTRUCTION INC.			\$75.000	\$1,800.00	-16.7%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		156.000	\$70.000	\$10,920.00	
1	FNF CONSTRUCTION, INC.			\$61.000	\$9,516.00	-12.9%
2	D B A CONSTRUCTION INC.			\$75.000	\$11,700.00	+7.1%
7016082	HOUR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank	Department Estimate		456.000	\$110.000	\$50,160.00	
1	FNF CONSTRUCTION, INC.			\$100.000	\$45,600.00	-9.1%
2	D B A CONSTRUCTION INC.			\$109.000	\$49,704.00	-0.9%

*** Bid Tabs for Proposal Pamphlet 2024060 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7017030	EACH-DAY	SEQUENTIAL FLASHING WARNING LIGHT				
Bid Rank	Department Estimate		108.000	\$2.500	\$270.00	
1	FNF CONSTRUCTION, INC.			\$0.750	\$81.00	-70.0%
2	D B A CONSTRUCTION INC.			\$1.200	\$129.60	-52.0%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		2,310.000	\$0.800	\$1,848.00	
1	FNF CONSTRUCTION, INC.			\$1.250	\$2,887.50	+56.3%
2	D B A CONSTRUCTION INC.			\$1.200	\$2,772.00	+50.0%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		2,888.000	\$0.800	\$2,310.40	
1	FNF CONSTRUCTION, INC.			\$1.250	\$3,610.00	+56.3%
2	D B A CONSTRUCTION INC.			\$1.200	\$3,465.60	+50.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		890.000	\$0.300	\$267.00	
1	FNF CONSTRUCTION, INC.			\$0.750	\$667.50	+150.0%
2	D B A CONSTRUCTION INC.			\$0.600	\$534.00	+100.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		10,804.000	\$0.300	\$3,241.20	
1	FNF CONSTRUCTION, INC.			\$0.750	\$8,103.00	+150.0%
2	D B A CONSTRUCTION INC.			\$0.600	\$6,482.40	+100.0%
7080401	L.FT.	WATERBORNE-TYPE II PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		1,925.000	\$0.500	\$962.50	
1	FNF CONSTRUCTION, INC.			\$1.000	\$1,925.00	+100.0%
2	D B A CONSTRUCTION INC.			\$0.900	\$1,732.50	+80.0%
7080402	L.FT.	WATERBORNE-TYPE II PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		1,540.000	\$0.500	\$770.00	
1	FNF CONSTRUCTION, INC.			\$1.000	\$1,540.00	+100.0%
2	D B A CONSTRUCTION INC.			\$0.900	\$1,386.00	+80.0%
7090001	L.FT.	DUAL COMPONENT PAVEMENT MARKING (WHITE EPOXY)				
Bid Rank	Department Estimate		6,482.000	\$1.500	\$9,723.00	
1	FNF CONSTRUCTION, INC.			\$0.750	\$4,861.50	-50.0%
2	D B A CONSTRUCTION INC.			\$0.700	\$4,537.40	-53.3%
7090002	L.FT.	DUAL COMPONENT PAVEMENT MARKING (YELLOW EPOXY)				
Bid Rank	Department Estimate		5,186.000	\$1.500	\$7,779.00	
1	FNF CONSTRUCTION, INC.			\$0.750	\$3,889.50	-50.0%
2	D B A CONSTRUCTION INC.			\$0.700	\$3,630.20	-53.3%

*** Bid Tabs for Proposal Pamphlet 2024060 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8080647	EACH	VALVE BOX (MAG DETRESET FRAME & COVER MAG DET 391-1)				
Bid Rank	Department Estimate		1.000	\$1,000.000	\$1,000.00	
1	FNF CONSTRUCTION, INC.			\$2,000.000	\$2,000.00	+100.0%
2	D B A CONSTRUCTION INC.			\$600.000	\$600.00	-40.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$340,000.000	\$340,000.00	
1	FNF CONSTRUCTION, INC.			\$357,000.000	\$357,000.00	+5.0%
2	D B A CONSTRUCTION INC.			\$283,560.000	\$283,560.00	-16.6%
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (MASH)				
Bid Rank	Department Estimate		163.000	\$100.000	\$16,300.00	
1	FNF CONSTRUCTION, INC.			\$70.000	\$11,410.00	-30.0%
2	D B A CONSTRUCTION INC.			\$69.000	\$11,247.00	-31.0%
9050028	EACH	GUARD RAIL TERMINAL (FLARE TYPE)				
Bid Rank	Department Estimate		1.000	\$6,000.000	\$6,000.00	
1	FNF CONSTRUCTION, INC.			\$10,000.000	\$10,000.00	+66.7%
2	D B A CONSTRUCTION INC.			\$8,400.000	\$8,400.00	+40.0%
9050420	EACH	GUARD RAIL TRANSITION (C-10.30)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	FNF CONSTRUCTION, INC.			\$9,500.000	\$9,500.00	-5.0%
2	D B A CONSTRUCTION INC.			\$7,200.000	\$7,200.00	-28.0%
9080085	L.FT.	CONCRETE CURB AND GUTTER (TYPE D)				
Bid Rank	Department Estimate		247.000	\$80.000	\$19,760.00	
1	FNF CONSTRUCTION, INC.			\$80.000	\$19,760.00	+0.0%
2	D B A CONSTRUCTION INC.			\$90.000	\$22,230.00	+12.5%
9080131	L.FT.	CONCRETE VALLEY GUTTER				
Bid Rank	Department Estimate		48.000	\$80.000	\$3,840.00	
1	FNF CONSTRUCTION, INC.			\$135.000	\$6,480.00	+68.8%
2	D B A CONSTRUCTION INC.			\$219.000	\$10,512.00	+173.8%
9080201	SQ.FT.	CONCRETE SIDEWALK (C-05.20)				
Bid Rank	Department Estimate		75.000	\$50.000	\$3,750.00	
1	FNF CONSTRUCTION, INC.			\$110.000	\$8,250.00	+120.0%
2	D B A CONSTRUCTION INC.			\$24.000	\$1,800.00	-52.0%
9080247	EACH	CONCRETE (CURB & GUTTER C-05.12 TYPE 9 TRANSITION)				
Bid Rank	Department Estimate		2.000	\$5,000.000	\$10,000.00	
1	FNF CONSTRUCTION, INC.			\$6,750.000	\$13,500.00	+35.0%
2	D B A CONSTRUCTION INC.			\$510.000	\$1,020.00	-89.8%

*** Bid Tabs for Proposal Pamphlet 2024060 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080296	EACH	CONCRETE SIDEWALK RAMP (TYPE B)				
Bid Rank	Department Estimate		2.000	\$6,000.000	\$12,000.00	
1	FNF CONSTRUCTION, INC.			\$7,500.000	\$15,000.00	+25.0%
2	D B A CONSTRUCTION INC.			\$3,397.000	\$6,794.00	-43.4%
9240010	L.SUM	FORCE ACCOUNT WORK (BIO-2B MBTA SURVEY QUALIFIED BIOLOGIST)				
Bid Rank	Department Estimate		1.000	\$9,000.000	\$9,000.00	
1	FNF CONSTRUCTION, INC.			\$9,000.000	\$9,000.00	+0.0%
2	D B A CONSTRUCTION INC.			\$9,000.000	\$9,000.00	+0.0%
9240012	L.SUM	FORCE ACCOUNT WORK (RAILROAD FLAGGING SERVICES)				
Bid Rank	Department Estimate		1.000	\$34,000.000	\$34,000.00	
1	FNF CONSTRUCTION, INC.			\$34,000.000	\$34,000.00	+0.0%
2	D B A CONSTRUCTION INC.			\$34,000.000	\$34,000.00	+0.0%
9240014	L.SUM	FORCE ACCOUNT WORK (BRIDGE DECK REPAIR)				
Bid Rank	Department Estimate		1.000	\$50,000.000	\$50,000.00	
1	FNF CONSTRUCTION, INC.			\$50,000.000	\$50,000.00	+0.0%
2	D B A CONSTRUCTION INC.			\$50,000.000	\$50,000.00	+0.0%
9240018	L.SUM	FORCE ACCOUNT WORK (BARRIER REINFORCED CONCRETE REPAIR)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	FNF CONSTRUCTION, INC.			\$5,000.000	\$5,000.00	+0.0%
2	D B A CONSTRUCTION INC.			\$5,000.000	\$5,000.00	+0.0%
9240020	L.SUM	FORCE ACCOUNT WORK (REMOVAL OF LEAD AND ASBESTOS CONTAMINATED WASTE MATERIAL)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	FNF CONSTRUCTION, INC.			\$5,000.000	\$5,000.00	+0.0%
2	D B A CONSTRUCTION INC.			\$5,000.000	\$5,000.00	+0.0%
9240211	L.FT.	SAWCUT GROOVE FOR STRIPING (CARBIDE BLADE)				
Bid Rank	Department Estimate		7,778.000	\$1.900	\$14,778.20	
1	FNF CONSTRUCTION, INC.			\$0.700	\$5,444.60	-63.2%
2	D B A CONSTRUCTION INC.			\$1.000	\$7,778.00	-47.4%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$120,000.000	\$120,000.00	
1	FNF CONSTRUCTION, INC.			\$59,500.000	\$59,500.00	-50.4%
2	D B A CONSTRUCTION INC.			\$27,500.000	\$27,500.00	-77.1%
2020009	A	CU.YD. REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank	Department Estimate		25.000	\$1,500.000	\$37,500.00	
1	FNF CONSTRUCTION, INC.			\$5,200.000	\$130,000.00	+246.7%
2	D B A CONSTRUCTION INC.			\$5,200.000	\$130,000.00	+246.7%

*** Bid Tabs for Proposal Pamphlet 2024060 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020252	A	SQ.YD. REMOVE BRIDGE DECK SURFACE (MECHANICAL MILLING)				
Bid Rank		Department Estimate	9,717.000	\$55.000	\$534,435.00	
1		FNF CONSTRUCTION, INC.		\$17.000	\$165,189.00	-69.1%
2		D B A CONSTRUCTION INC.		\$13.000	\$126,321.00	-76.4%
6010005	A	CU.YD. STRUCTURAL CONCRETE (CLASS S) (F'C = 4,500)				
Bid Rank		Department Estimate	25.000	\$3,500.000	\$87,500.00	
1		FNF CONSTRUCTION, INC.		\$3,700.000	\$92,500.00	+5.7%
2		D B A CONSTRUCTION INC.		\$2,400.000	\$60,000.00	-31.4%
6010505	A	SQ.YD. BRIDGE REPAIR (EPOXY OVERLAY)				
Bid Rank		Department Estimate	9,717.000	\$100.000	\$971,700.00	
1		FNF CONSTRUCTION, INC.		\$57.000	\$553,869.00	-43.0%
2		D B A CONSTRUCTION INC.		\$68.000	\$660,756.00	-32.0%
6011343	A	L.FT. DECK JOINT ASSEMBLY (FLANGELESS STRIP SEAL)				
Bid Rank		Department Estimate	238.000	\$600.000	\$142,800.00	
1		FNF CONSTRUCTION, INC.		\$760.000	\$180,880.00	+26.7%
2		D B A CONSTRUCTION INC.		\$950.000	\$226,100.00	+58.3%
6050012	A	LB. REINFORCING STEEL (EPOXY COATED)				
Bid Rank		Department Estimate	3,330.000	\$3.000	\$9,990.00	
1		FNF CONSTRUCTION, INC.		\$9.000	\$29,970.00	+200.0%
2		D B A CONSTRUCTION INC.		\$8.800	\$29,304.00	+193.3%
9240117	A	SQ.FT. MISCELLANEOUS WORK (BARRIER PENETRATING SEALER)				
Bid Rank		Department Estimate	26,148.000	\$10.000	\$261,480.00	
1		FNF CONSTRUCTION, INC.		\$3.000	\$78,444.00	-70.0%
2		D B A CONSTRUCTION INC.		\$2.100	\$54,910.80	-79.0%